
PCW5000/ 

PCW5000-HS GAS-POWERED PULLING WINCH - GXH50 CC Pris ex moms: 

10-0094 WINCH HANDLE kr   163,00   

10-0095 GUARD PLATE PCW5000 kr   400,00   

10-0098 BUSHING FOR SAFETY HOOK kr   63,00   

10-0099 ALUMINIUM ROPE EXIT HOOK kr   483,00   

10-0101 ROPE ENTRY PULLEY kr   409,00    

10-0102 RETAINING WASHER (1/4 X 1-1/4 OD) - ZN kr   25,00   

10-0103 ROPE KEEPER kr   358,00    

10-0119 SHOULDER BOLT 5/8 X 1-1/2 - ZN kr   190,00    

10-0324 SPACER FOR HONDA SWITCH MOUNT kr   67,00   

31-0010 HCS 1/2-13 X 6 - GR5 - ZN kr   86,00   

31-0019 HCS 3/8-24 X 1 GR5 - ZN kr   14,00   

31-0024 BHCS 1/4-20 X 1 - SS kr   12,00   

31-0025 BHCS 1/4-20 X 3/4 - SS kr   16,00   

31-0080 SHCS 1/4-20 X 3/4 - SS kr   12,00   

32-0002 HEX FLANGE SERRATED BOLT M6-1 X 12 MM - ZN kr   9,00   

33-0005 NUT 1/2-13 NYLON - ZN kr   12,00   

35-0004 FLAT WASHER 1/2 - ZN kr   9,00   

39-0042 HEX SCREW WASHER HEAD - TYPE AB - 10 X 5/8 kr   14,00   

43-0013 KEY FOR CAPSTAN DRUMS 57 MM, 85 MM, 108 MM (5/16 X 1-1/4) kr   42,00   

44-0019 VINYL GRIP kr   56,00   

45-0028 SUPPORT PLATE FOR ON/OFF SWITCH FOR GXH-50 ENGINE kr   595,00   

PCA-1100 85 MM CAPSTAN DRUM WITH ROPE GUIDE AND 2 SCREWS kr     1 322,00      

10-0001 CAPSTAN DRUM 85 MM kr   866,00    

10-0106 ROPE GUIDE FOR CAPSTAN DRUM 85 MM kr   586,00   

PCA-1110 57 MM CAPSTAN DRUM WITH ROPE GUIDE AND 2 SCREWS kr     1 190,00      

10-0096 CAPSTAN DRUM 57 MM kr   895,00   

10-0100 ROPE GUIDE FOR CAPSTAN DRUM 57 MM kr   655,00   

PCA-1281 SAFETY HOOK WITH LATCH kr   217,00   

Honda delar: 

45-0000 HONDA ENGINE GXH50U-QXA kr   8 780,00    

45-0024 Starthus GXH-50 kr   784,00   

45-0016 Filter element GXH-50 kr   74,00   

45-0018 Filter kåpa kr   355,00   

45-0017 Filterhus kr   227,00   

45-0030 Tändstift GXH-50 CRH5HSB kr   138,00   

39-0008 Oljeplugg kr   14,00   

45-0032 Av och på brytare kr   85,00   

45-0020 Tanklock kr   220,00   

PCA-1151 Gnist fångare GXH-50 kr   377,00   

Reservdelar PCW5000 / PCW5000-HS




